
Reaall for basis B= 5b,,...,
terms of basis in B

And we can have bijective

special case where V=Rn
all VER", [x]s=x

bus in V there's unique encoding

LT. Ca:VoR" that sends
', we have std basis I=se..

for weV in

# Picking helpful coords

Consider generie VS. V and R" with
We want Peas [bilB = [biJc

Then Pcas = Ib.Jc ... Ib-Ja

B'[x]g=I×]B

Ex. B: 21, 1+8, 1+733
C= 81+8, 1+x+83, x+x 3

(0X1+4) +C) 1+8+72) +1-1168482)
be=1+4= (1) (1+7) +(0) (144+82) +10)(x+82)

be I+83: (-1) (1+4) +(2) (178483) +6-1)6>7782)

so Ibile: ?) Ibales 16.7. =27

1. Peng [x]a = [x]e V xEB
2. Peas is unique
3. PerB invertible and (P(as)'= Pare

Lec 33

# Recal

In
And

vhs Ius

., ens.

Consider

for amy

some basis B=96,,,ba3
CaEci.... ca3

Well be=l:

Ther

PlEB=
-
2-1 0


